National Testing Agency

Question Paper Name: Chemical Sciences 15th December 2019 Shift 2
Subject Name: Chemical Sciences

Creation Date: 2019-12-1519:00:21

Duration: 180

Total Marks: 200

Display Marks: Yes

Chermical Sciences

Group Number : 1

Group Id: 18798014
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 200

Part & Chemical Sciences

Section Id : 18798040
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 15
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 18798040
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1879801621 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



There are nine identical balls, one of which 1s heavier than the other eight. What 1s the least
number of weighings. using a two-pan balance, needed for defimtely identifying the heavier
ball?

(1) One

(2) Two

(3) Three

(4) Four
Options:

le7as0e4dsl. 1
1573806482, 2
15738064585, 2
1573806454, 4
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Options:

1573806451, 1
1873808482, 2
1573806453, 2
1573806454, 4

Question Number : 2 Question Id : 1879801622 Question Type: MSQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



The number of triangles in the figure 1s

(1) 9
(2) 10
(3) 11
(4) 12
Options:
1879806485, 1
1879806486, 2
1879806487, 3
1879306458, 4
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(1) 9
(2) 10
(3) 11
(4) 12
Options:
12798064585 1
12798064586, 2
1879806487, 3
1879306458, 4

Question Number : 3 Question Id : 1879801623 Question Type: MSQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The difference, the sum and the product of two integers are in the proportion 1:3:10. The two
mtegers are:

(1) 3.9

(2) 2.5

(3)  5.10

(4)  3.10
Options:

1873806489, 1
1873808480, 2
1873806431, =3
1573806492, 4
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(1) 3.9

(2) 25

(3) 510

(4)  3.10
Options::

1573806485, 1
1573806430, 2
1573805431, 2
1873808492, 4

Question Number : 4 Question Id : 1879801624 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

In a population of 900, the number of married couples 1s as much as the number of singles.
There are 100 twins of which 50 twins are singles. The population has 400 females in all. What
15 the number of married persons?

(1) 325
(2) 600
(3) 250
(4) 300
Options:

1573806493, 1
1873806434, 2
1573806435, 2
1573806436, 4

Question Number : 4 Question Id : 1879801624 Question Type: MSQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 325
(2) 600
(3) 250
(4) 300
Options:

1573806453, 1
1573806434, 2
1573806435, 3
1573806436, 4

Question Number : 5 Question Id : 1879801625 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

In a certain cipher language ‘BIKE’ 1s coded as “YFHB’ and “CAR’ 1s coded as *ZXO’ then
‘SCOOTER’ can be coded as

(1) TAPPIYB

(2) PYVVAH]

(3) PZLLQBO

(4) JZKKMCO
Options:
1573806497, 1
1573806435, 2
1873806499, 2
1573808500, 4

Question Number : 5 Question Id : 1879801625 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
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Correct Marks: 2 Wrong Marks: 0.5
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(1) TAPPIYB
(2) PYVVAHT

(3) PZLLQBO

(4) JZKKMCO
Options:
1879806497, 1
1879806498, 2
1879806499, 3
1879806500, 4

Question Number : 6 Question Id : 1879801626 Question Type: MSQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

Quantity 1

Value

o Quantity 2

Year

The trends of two quantities over five years are shown in the graph. Which of the following are
valid inferences?

A The mean values of the quantities are nearly equal
B. The vanations in the two quantities are nearly equal

C. Quantity 1 varies less over the given period as compared to Quantity 2

(1) Only A is true

(2) Only B is true

(3) A and C are true

(4) A and B are true



Options:

1879806501, 1
18739806502, 2
18798065032 2
15379806504, 4

Question Number : 6 Question Id : 1879801626 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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Options:
18738065011
1873808502, 2
1573806503, 2
1573806504, 4
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Which among the following diagrams can represent the relationships between houses, offices
and buildings?

» [QD
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(3)

(4)

Options:

15879806505, 1
1879806506, 2
1879806507, 3
1879806508, 4

Question Number : 7 Question Id : 1879801627 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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Options:

1879806505 1
1879806506, 2
1879806507, 2
18739806508, 4

Question Number : 8 Question Id : 1879801628 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

Consider a location on the Earth where the Sun 1s overhead at noon. Compared to its shadow at
10.00 AM, the shadow of a tower at 4.00 PM would be

(1) twice longer

(2) three times longer

(3) four times longer

(4) eight times longer

Options:
18793806509, 1



1873806510, 2
1573808511, 2
1573806512, 4

Question Number : 8 Question Id : 1879801628 Question Type: MSQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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Options:

1879806509 1
1879806510, 2
1879806511, 2
18739806512, 4

Question Number : 9 Question Id : 1879801629 Question Type: MSQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



A girl 1s running at constant speed to catch a bus whuch 1s stationary. Before she reaches the
bus, the bus leaves and moves with a constant acceleration. Whach one of these graphs
describes the situation correctly?
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Options:

1873808513, 1
1873808514, 2
1873806515, 3
1573806516, 4
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1879806513 1
1879806514 2
1879806515 2
18739806516, 4

Question Number : 10 Question Id : 1879801630 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



A dart 1s randomly thrown at a circular board on which two concentric rings of radu R and 2R
having the same width (width much less than R) are marked. The probabality of the dart lutting
the smaller ring 1s

(1) twice the probability that 1t huts the larger nng.

(2) half of the probability that 1t hits the larger nng.

(3) four times the probability that it uts the larger ring.

(4) one-fourth the probability that 1t huts the larger ring.

Options:

153792068517, 1
1879806518, 2
1879806519, =
1879806520, 4

Question Number : 10 Question Id : 1879801630 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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Options:

1873808517, 1
1573808518, 2
1873808519, 3
1573806520, 4

Question Number : 11 Question Id : 1879801631 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



The length of a rod 15 measured repeatedly by two persons. Person A reports the length to be
1002 = 1 cm wlule person B reports the length to be 1001 + 2 em. It 15 known from a more
reliable method that the length 1s 1000.1 = 0.5 cm. Which one of the following statements 1s
correct?

(1) Measurements made by B are less accurate, but more precise, compared to those by A

(2) Measurements made by A are less accurate, but more precise, compared to those by B.

(3) Measurements made by B are more precise and more accurate, compared fo those by A.

(4) Measurements made by A are more precise and more accurate, compared to those by B.
Options:

1573808521, 1
1873806522, 2
1573806525, 3
1573808524, 4

Question Number : 11 Question Id : 1879801631 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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Options:

1879806521, 1
1879806522, 2
1879806523 3
18739806524 4

Question Number : 12 Question Id : 1879801632 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



Seven chairs numbered 1 to 7 are placed around a round table. Starting from chair number 5, a
person keeps going around the table anticlockwise. After crossing 41 chars, the person will
reach the chair number

(1) 1
(2) 3
(3) 5
(4) 7
Options:

1873806525, 1
157 380B5Z2E. 2
1573806527, 3
1573806528, 4

Question Number : 12 Question Id : 1879801632 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 1
(2) 3
(3) 5
(4) 7
Options:

1873806525, 1
1573806526, 2
1573806527, 3
1573806528, 4

Question Number : 13 Question Id : 1879801633 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



A B, C and D are four consecutive poimnts on a circle such that chords AB=BC=CD=10.0 cm
and DA = 20.0 cm. The radius of the circle (in cm) 1s

(1) 10.0

(2) 1042

(3) 1043

(4) 20.0
Options:

1873808529, 1
1573808530, 2
1873808521, 2
1573806532, 4

Question Number : 13 Question Id : 1879801633 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 10.0

(2) 1042

(3) 1043

(4) 20.0
Options:

1873808529, 1
1873808520, 2
1873806521, 3
1573806532, 4

Question Number : 14 Question Id : 1879801634 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



A tells B, “I could be wisiting you on any day in the next two months and you must give me
gold coins of as much total weight in grams as the number of days that would elapse from
today”. If gold coins are available m integer gram weights, what 1s the least number of coins
with which B can meet A’s demand on any day?

(1) 31
(2) 7
(3) 6
(4) 13
Options:

1873808533 1
1573808534, 2
1873808535, 3
15738065326, 4

Question Number : 14 Question Id : 1879801634 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 31
(2) 7
(3) 6
(4) 13
Options:

1873808533 1
1573808534, 2
1873808535, 3
15738065326, 4

Question Number : 15 Question Id : 1879801635 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



A move of a coin 15 defined as crossing any number of points mn a straight line on the 4 x 4 gnd
(horizontally, vertically or diagonally). What 1s the least number of moves in which a con,
starting from the indicated position, can cover all nine pomnts within the marked square?

(1) four

(2) five

(3) S1X

(4) seven
Options:

1873806537, 1
157380B538. 2
1573806539, 3
1573806540, 4

Question Number : 15 Question Id : 1879801635 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) TN
(2) o=
(3) oT
(4) |1
Options:

1873808537, 1
1573808538, 2
1873808539, 3
1873806540, 4

Question Number : 16 Question Id : 1879801636 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0.5



The graph below shows the rainfall and temperature at a place over one week. Which day of the
week would feel the most hunud?

30°C = + 100 mm
)
@ 3
B =
o S2
@ =
8 s
Al
20°C + + 10 mm
M T W T F SS
(1) Monday

(2) Wednesday
(3) Thursday

(4) Saturday

Options:

1879306541, 1
187398068542 2
15379806543, 2
15879806544 4

Question Number : 16 Question Id : 1879801636 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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Options:

1879306541, 1
187398068542 2
15379806543, 2
15879806544 4

Question Number : 17 Question Id : 1879801637 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The difference between the squares of two consecutive integers 15 408235. The sum of the
numbers 1s

(1) 16324

(2) 27061

(3) 180235

(4) 408235
Options:

1573806545, 1
1573806546, 2



1873806547, 3
1573806545, 4

Question Number : 17 Question Id : 1879801637 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 16324

(2) 27061

(3) 180235

(4) 408235
Options:

1873808545, 1
1573808546, 2
1873806547, 3
1573806545, 4
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Find out the next figure in following sequence?
b a
c d
D a
> |5
c d

(2)

d
(3)
b C

(4)

Options:

1879306549 1
18798065580, 2
15879806551, 2
15879806552, 4

Question Number : 18 Question Id : 1879801638 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



f=iferT 9 & el aTefa w7 SRl

b a
" ESE
C d
a d
- [
b c

(3)

(4)

Options:

1879806549 1
1879806550, 2
1879806551, 2
1879806552 4

Question Number : 19 Question Id : 1879801639 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



A partially filled hour glass has water falling from the upper bowl to the lower bowl. Which of
the following statements 1s correct?

(1) The level of water rises in the lower bowl] at the same rate as the fall in the upper bowl

(2) The level of water nises in the lower bowl at the half rate as the fall in the upper bowl

The rate of increase in the volume of water in the lower bowl 1s the same as the rate of

(3) decrease in the upper bowl
(4) The area of top surface of the water column 1s the same 1n both bowls at all imes
Options:

1873806553, 1
1573808554, 2
1573806555, 3
1573806556, 4

Question Number : 19 Question Id : 1879801639 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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1573808553, 1
1573806554, 2
1573806555, 3
1873806556, 4
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Exanune the following statements:

a. Fat cells normally produce hormone A 1n proportion to the amount of fat. Obese
individuals, however, have lower than normal levels of hormone A

b. Hormone A reduces food intake

Which among the following 15 a valid inference based on the above statements?

(1) Impaired production of hormone A causes obesity

(2) Impaired action of hormone A causes obesity

(3) Obesity results into low levels of hormone A

(4) Excess food intake causes depletion of hormone A
Options:

1573808557, 1
1873808558, 2
1573808553, 2
1873806560, 4

Question Number : 20 Question Id : 1879801640 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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1879806557, 1
1879806558, 2
1879806559, 3



1873806560, 4

Part E Chemical Sciences
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 1879801641 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

Correct order of molar extinction coefficient values of the visible absorption bands for the
following species 15

(1) [Cr(H20)6)* > [Mn(H:0)¢]** > Chlorophyll > [NiCly]*

(2) Chlorophyll = [NiCls]* = [Cr(H20)6]*" > [Mn(H20)s]*

(3) [NiCls]*~ > Chlorophyll > [Cr(H20)s]** > [Mn(H20)s]**

(4) Chlorophyll = [Cr(H20)6]** > [N1Cls]*™ > [Mn(H20)s]**
Options:
1579808561, 1
1579808562, 2
1879806563 2
1879806564 4

Question Number : 21 Question Id : 1879801641 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0.5
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TH T

(1) [Cr(H20)s]* > [Mn(H:0)e]* > FERIMha > [NiCL>
(2) FEEMHE = [NICL]* > [Cr(H0)s]* > [Mn(H0)s*
(3) [NiCls]? > TR > [Cr(H20)6]* > [Mn(H20)¢]*

(4) TR > [Cr(H,0)5]> = [NiCL]* > [Mn(H,0)s]*
Options:
1879805561 1
1579808562, 2
1579808563 3
1579808564 4

Question Number : 22 Question Id : 1879801642 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The expected number of V¢o bands in the IR spectra of fac-[Mo(PPh3);(CO)s] and
frans-[Mo(PPh;:),(CO);] are, respectively

(1) one and one
(2) two and two
(3) two and one

(4) three and one
Options:
1879806565, 1
1879806566, 2
1879806567, 2
1879806568 4

Question Number : 22 Question Id : 1879801642 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



fac-[Mo(PPh;)3(CO)s] T2 rans-[Mo(PPhs),(CO);] & IR Taar # Vo 4wl & Tednerd
e ©§, HAEE

(1) U AT U
(2) CEGE RG]
(3) gl a1 T

(4) o T U
Options:
1879806565, 1
1879806566, 2
1879806567, 2
15879806568, 4

Question Number : 23 Question Id : 1879801643 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

Pair of lanthamide 1ons which show significant deviation between the experimental and
calculated magnetic moments, considering contribution from the ground state only

(given g = g[J(J+ 1)]*? | is
(1) Gd*™ and Lu™
(2) Sm’" and Tb**
(3) Eu** and Tb*™

(4) Sm”" and Eu™
Options:
1579808569 1
1579808570 2
1579808571, 2
1579808572 4

Question Number : 23 Question Id : 1879801643 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



S =108 TRl & YRS BT AL FHHY Walen a2 Tl qreEdig Ao
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(1) Gd* @27 Lo

(2) Sm*" T2 Th™

(3) Eu® T2 Tb*

(4) Sm** T2 Eu’*
Options:
1579808569, 1
1579808570 2
1579808571, 2
1579808572 4

Question Number : 24 Question Id : 1879801644 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

In common glass electrode, alkaline error caused at pH > 10 1s least for

(1) 0.01M NaCl

(2) 1.0 M NaCl

(3) 1.0 M LiCl

(4) 1.0 MKClI
Options:
1879308573 1
1879806574, 2
1879806575, 3
1879806576, 4

Question Number : 24 Question Id : 1879801644 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



— —

A BIa—3oegie H, pH> 1009, B dmell aeE I faws

(1) 0.01M NacCl
(2) 1.0 M NacCl
(3) 1.0 M LiCl

(4) 1.0 MKClI
Options:
1879806573, 1
1879806574, 2
1879806575, 3
1879806576, 4

Question Number : 25 Question Id : 1879801645 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
Consider four species A, B, C, and D.

+
A+ B—rKI’H Cc

Oxidation of A with C in an acidic medium gives D. A, B, C and D are, respectively

(1) 8406, I, KIO; and SO,

(2) $406 " KIOs. I and SO4*

(3) $,0:7", KIO3, I and S:05

(4) $203"", KIO3, I» and SO4*
Options:
1579808577 1
1579808578, 2
1579808579 2
1879308580, 4

Question Number : 25 Question Id : 1879801645 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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KI, H*
A+B———C

TR fTooT H A &1 C ¥ Adedian D ST £ A B, CTATD &, A

(1) 8406, Ir, KIO; T2 S04

(2) S406 . KIO;, I, T2 SO,

(3) S,0:. KIO;. I, T2 S40¢%

(4) S,0:7", KIO;, IL 727 S04
Options:
1879806577. 1
1879308575, 2
18793085749 2
1879806580, 4

Question Number : 26 Question Id : 1879801646 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

For an octahedral Cu®* complex depicting axial EPR spectrum (g|| > g,), the geometry of Cu**
and the orbital containing the unpaired electron are, respectively

(1) Tetragonally elongated, dx’—’

(2) Tetragonally compressed, d.*

(3) Tetragonally elongated, d:*

(4) Tetragonally compressed, d.<"—*

Options:

1879806581, 1
1579806582, 2
1879806583, 2
15879806584 4

Question Number : 26 Question Id : 1879801646 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



& EPR WEEH (g))> 1) 9 A%l ACHOHA Cu Hael 4 Cu> @ wriakg a
JYAET Feldn™ @ 90 $HIF arell Afdce o, HE

(1) e TACTHEI ST, dyly?
(2) EAHCTERTT WUTSd, d.2
(3) EEAeRTE ied, d?
(4) [EHHCTHETT HUMTS, doly?

Options:
15879206551, 1

1873808582, 2
1573806585, 3
1573806554, 4

Question Number : 27 Question Id : 1879801647 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The common heptacity observed for coordmation of Cg to a metal center 1s

(1) 2
(2) 4
(3) 5
(4) 6
Options:

1873806585, 1
1573806586, 2
1573806587, 3
1573806588, 4

Question Number : 27 Question Id : 1879801647 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 2
(2) 4
(3) 5
(4) 6
Options:

1573808585, 1
1573806586, 2
1573808587, 3
1573808558, 4

Question Number : 28 Question Id : 1879801648 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The pair of light source and atomizer resulting highest sensitivity to atomuc absorption
spectrometric measurement 1s:

(1) Hg lamp; nitric oxide flame

(2) Hg lamp; graphite furnace

(3) Hollow cathode lamp; graphite furnace

(4) Hollow cathode lamp; acetylene-mitric oxide flame

Options:

15379206559, 1
1879806520, 2
1879806591, =
1879806592, 4

Question Number : 28 Question Id : 1879801648 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) Hg oF; A3Ied ATFHSS Wl

(2) Hg &7 UHISC ACC]

(3) WAl HATS oW: AHEC o)

N e . e

(4) WG HATS o THIca —ASied ATTHSS warel

Options:
1579808559, 1

1873808590, 2
1573808591, 2
1573808592, 4

Question Number : 29 Question Id : 1879801649 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
The magnitude of bond angles 1n gaseous NF;, SbF: and SbCl; follow the order

(l} NF; = SbF; = SbCl;

(2) SbCl; = SbF; = NF;

(3} SbF; = ShCl; > NF;

(4) NF3 > SbCls > SbF;
Options:
1879808592, 1
18739806594 2
18739808595, =
1873808596, 4

Question Number : 29 Question Id : 1879801649 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) NF; = SbF; > SbCl;
(2) SbCl; > SbF; > NF;
(3) SbF; > SbCl; > NF;

(4) NF; = SbCls = SbF;
Options:
1573806593, 1
1573806594, 2
1573806535, 3
1873808596, 4

Question Number : 30 Question Id : 1879801650 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The most stable vanadium species in aqueous medium 1s
1) [VE:0)(OH]*

(2)  [VOFE:0)s*

(3) [VO(H20)s]"

(4) [V(H20)4(OH)2]*
Options:
1879806597, 1
1879806598, 2
18798068599, 3
1879806600, 4

Question Number : 30 Question Id : 1879801650 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



el gregs H wWaitge fen gafesgy wiefa ©
(1) [V(H20)s5(0H)]*

(2) [VO(H20)s]*

(3) [VO(H:0)s]”

(4) [V(H20)4(OH)]*
Options:
1873806597 1
1573808549:, 2
1573808533, 2
1573806600, 4

Question Number : 31 Question Id : 1879801651 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

For the complex shown below in non-fluxional state_ the expected *'P{'H} NMR resonance(s)
is/are [P'P: I =14]

(1) one singlet

(2) one doublet

(3) two singlets

(4) two doublets
Options:
1879806601 1
1879806602, 2
1879806602 2
1579808604 4

Question Number : 31 Question Id : 1879801651 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



Y

= g9 Ty RS @] AudTer argwen ¥ geanide i) NMR JT1E [*1P: I = %] £/t
O.__Ph

(1) & o

(2) TH 5

(3) CIRGED

(4) CREED
Options:

1573806601, 1
1573806602, 2
1573806603, 3
1573805604, 4

Question Number : 32 Question Id : 1879801652 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

Identify from following, the products of K-electron capture by the nucleus:
A neutron
B. neutrino
C. positron

Answer 15

(1) A only

(2) Aand B

(3) C only

(4) B and C
Options:
1573806605, 1
1573806606, 2
1573806607, 3
1573806605, 4



Question Number : 32 Question Id : 1879801652 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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B_FQ55¢
C. T TG

i

W 0

(1) Hael A
(2) AT B
(3) Hae] C

(4) B TUIC
Options:
15379206605, 1
1879806606, 2
1879806607 2
1879806605, 4

Question Number : 33 Question Id : 1879801653 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



Choose the correct statements for oxymyoglobin and cytochrome Paso (resting state) from the
following:

A Both contain dianion of protoporphyrin-IX

B. They have same fifth-ligand bonded to metal centre from the protein backbone
C. They contain single active site

D. They contain metal 1on 1 +3 oxidation state

Answer 15

(1) A BandC
(2) A CandD
(3) A BandD

(4) B and C only

Options:

1879806609, 1
1879806610, 2
18739806611, =
1879806612, 4

Question Number : 33 Question Id : 1879801653 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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A. UTCTIITh9-IX &1 2=oma= A1 9 Tl © |

B. 394 UM & H%aUS @I, 8 &= § JEH, T9F fofe W9 [ o ©

C. 379 Wfthy WIel U Bl ©

D. 394 ©Tq I &1 ATFEHI0 JTae=IT +3 Tl § |

(1) A BTAIC
(2) A CTAID

(3) A BTATD

(4) @acl BAA1C
Options:
15732806609, 1
1573806610, 2
1573806611, 3
1573806612, 4

Question Number : 34 Question Id : 1879801654 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



The major product formed in the following reaction 1s

/—/ NBS

/A
s (PhCOO),

CgHg, heat
Br
v f

S
_/

|

(2) i\
3,
Br

(3) Zf xS

5

(4) i b
Er’ﬂ-&\s

Options:

1873808613, 1
1873806614, 2
1573806615, 2
1573806616, 4

Question Number : 34 Question Id : 1879801654 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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'_/ MBS

(i -
Qs) (PhCOO),
CEHE1 heat
Br
(1) d
S

> [

( 45 T Br
Br

(3) Z; \.S

(4) [

Options:

1579806613 1
1879806614 2
1879806615 2
1873806616, 4

Question Number : 35 Question Id : 1879801655 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The correct match of *C NMR chemical shift values (& ppm) for pyridine 1s

4

| 3

N" z
(1) C2: 136; C3:124; C4: 150
(2) C2:124; C3: 150; C4: 136
(3) C2: 150; C3:124; C4: 136
(4) C2: 150; C3: 136 C4: 124

Options:



1873806617, 1
1573806618, 2
1573806619, 2
1573806620, 4

Question Number : 35 Question Id : 1879801655 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

AREEE & 017 BC NMR @7 TTadHa gid #F1 (5 ppm) &1 H61 &Fe4 ©
4
| S d
= 2
N
(1) C2: 136 C3: 124 C4: 150
(2) C2: 124 C3: 150, C4: 136
(3) C2: 150; C3: 124 C4: 136
(4) C2: 150; C3: 136; C4: 124
Options:

187a80eE17. 1
1573806618, 2
1573806619, 2
1573806620, 4

Question Number : 36 Question Id : 1879801656 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



The major product formed in the following reaction 1s
H- (3 atm)
DEN@GDEH -
Raney Ni, rt

(1) H,N

(2) O,N

(4) HoN

(3) HEN@CHEDH

Options:

1879806621, 1
1879806622, 2
18739806623 2
1879806624 4

Question Number : 36 Question Id : 1879801656 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

fr=fafiaa afafeo § e g soR ©
H, (3 atm)
0.N CO,H -
Raney Ni, rt

CO,H

(1) H,N

(2) O,N CH,OH

e

(3) HoN CH,0OH

(4) HoN CO,H

0 ¢

Options:
1879806621, 1



1873B0BEEE. 2
157380BEES. 3
1573806624, 4

Question Number : 37 Question Id : 1879801657 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The correct order for the rate of thermal decarboxylation of the following compounds 1s

CO,H s PR
NSS!

CEN . =z _CO,H

E;;J N~ “CO,H NT T2
A B c

(1) C>B>A

(2) C>A>B

(3) A>C>B

(4) B>C=>A
Options:
18739806625 1
1879808626, 2
1879806627, 2
187398066208, 4

Question Number : 37 Question Id : 1879801657 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

&

Feferiega ATl & A faamEiade ®f 7 & 9al A

ey O
L ()

ﬂ N’.ﬂ CDEH N:f'-* JCOQH
o

A B C

(1) C>B=>A
(2) C>A>B
(3) A>C>B
(4) B>C=>A

Options:
15379206625, 1



1873B0BEZE. 2
1573806627, 3
1573806625, 4

Question Number : 38 Question Id : 1879801658 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The correct order of basicity of the following amons 1s
DEJ =

CO0O

DQN \ﬁ'\l‘h ~ NDJ ""-n,_H

e D
CH,NO,  CH,CN ‘*T’f" “‘T’f’“
NO, NO,

A B c D

(1) B=A>C=>=D

(2) D>B>C>A

(3} C=D=B=>=A

(4) B>A>D>C
Options:
1573806629, 1
1573806630, 2
1573806631, 3
1573806632, 4

Question Number : 38 Question Id : 1879801658 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



FyeTTeTfigT —Roma-T @7 anTaar & 9el BH ©

9 coo”
'DEN S ND? A2
0 P g
CH,NO, CH,CN Y =
NO, NO,
A B C D

(1) B>A>C>D

(2) D>B>C>A

(3) C>D>B=>A

(4) B>A>D>C
Options:
1573806629, 1
1573806630, 2
1873806631, 2
1573806632, 4

Question Number : 39 Question Id : 1879801659 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

Elcbh mechanism 1s followed in the reaction of

(1) 2-bromopentane with -BuOK to give pent-2-ene
(2) nitromethane with benzaldehyde 1n the presence of KOH to give f-nitrostyrene
(3) bromobenzene with NalNH: to give amiline
(4) p-chloronitrobenzene with NaOMe to give p-nitroamsole
Options:

1873806633, 1
1573806624, 2
1573806635, 3
1573806636, 4

Question Number : 39 Question Id : 1879801659 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5
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(1) 2 @MUY @1 t-BuOK § afafehar # & Ure-2-39 <dl &

2) AEcHYA @ KOH &1 Sufifd & dwifcenige W JMfmar # A1 gAEgReEIA
(3) AMAEIE @1 NaNHx W I far # @1 Uil gl ©

fut

(4)  p-FERFEgH B NaOMe ® AATHAT H Tl p-A=gU-aIel 9ol © |

Options:
15379206633 1

1873808624, 2
1573806635, 3
15738066326, 4

Question Number : 40 Question Id : 1879801660 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



The major product formed in the following reaction 1s

(2)
OTs
SPh
(3)
NO,
OTs
I
(4) E A
-
SPh
Options:

18Va80EE3Y. 1
1873806628, 2
157380BE3Y. 3
1573806640, 4

Question Number : 40 Question Id : 1879801660 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



fferfan afafear 5 foefag 950 9o= ©

L

(1) Ejﬁl

(2)
OTs
SPh
(3)
NO,
OTs
I
(4) E =
-
SPh
Options:

1573808637, 1
1873B0BEZE. 2
1573806639, 3
1573806640, 4

Question Number : 41 Question Id : 1879801661 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



In IR spectrum, recorded neat, a compound shows a strong and broad band at 3300 cm™. The
band becomes sharp and shifts to 3600 cm™ when the spectrum is recorded in CCly at high
dilution. This proves that the compound has

(1) OH group, which 1s involved in intramolecular H-bonding

(2) OH group, which 1s mvolved m intermolecular H-bonding

(3) a terminal alkyne group

(4) OH group, present in severely sterically hindered environment

Options:

15879806641, 1
1879806642, 2
18739806643 2
1879806644 4

Question Number : 41 Question Id : 1879801661 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

TF AE @ I dawel ¥ fe Far T IR WeEgE 3300 cn”t U7 UF UG @
favgd dv 9T §1 39 WdeH o cch.ﬁ 3= djn|n? ﬁuﬂé P U IT dws A
TTHY 3600 el T Tqvenfia o Wi £ 9% s oo € 5 9Fw

(1) OH T4 il mm H-2TTa+59 | e ©

(2)  OHYY T I HecRI3EH H-MT H oNffa §

(3)  US cfE=el Uohsd U ©

(4) OH YT © W Jvd FIiaar sia%g Taqeu & Suned ©
Options:
1879506641, 1
1879806642, 2
1879806643, 3
1879506644, 4

Question Number : 42 Question Id : 1879801662 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



TRUE statement for the following transformation 1s

D+ ol 2 A
07 ™n7 —0

(1) AH" and AS® are positive
(2) AH" and AS® are negative
(3) AH"1s positive and AS®1s negative

(4) AH® 15 negative and AS°1s postfive
Options:
1872806645, 1
1879806646, 2
18739806647, =
187398066458, 4

Question Number : 42 Question Id : 1879801662 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

ffeIgT WU @ forv el &2 ©
0 . O, . Ajg
07Ny =0

(1) AH® T2T AS® TFHF © |

(2) AH® TUT AS® FLUTHT © |

(3) AHPEATEHS © 2119 ASCTRUTTAS ©

(4) AHPC THUTTEHE © A ASC TS © |
Options:
1879806645, 1
1879806646, 2
1879806647, 3
1873980648, 4

Question Number : 43 Question Id : 1879801663 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0.5

The major product formed in the following reaction is

No
‘ CF4CO,H
Me(O
(1) mo
MeO
O
(2)
MeO
O
(3)
O
ﬁﬁ"‘ />\
(4) DLJY;; )
0
Options:

1873806645 1
1573808650, 2
1873808651, 3
1573806652, 4

Question Number : 43 Question Id : 1879801663 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
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1573806645, 1
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The major product formed in the following reaction 1s

t-BUOEC
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Options:

1573808653, 1
1873808654, 2
1573806655, 3
1573806656, 4
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t-BuO,C
MeO
t-BuO,C
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HO
HO.C
3) MNH-
HO.C
(4} MNHChz
MeO
Options:

1573808653, 1
1873808654, 2
1873806655, 3
1573806656, 4
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The major product formed in the following reaction 1s

hwv

0
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Q
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0
(3) =
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Options:

1879806657 1
1879806658, 2
1879806659 2
1579306660, 4
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Options:

1879806657 1
1879806658 2
1879806659 2
15379806660, 4
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The major product formed in the following reaction 1s
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Options:
1579808661, 1

1873B0BEEZ, 2
157 380BEES. 3
1573806664, 4
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1579306661, 1
1879806662, 2

157380BEES. 3
1573806664, 4
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The 1on having the highest bond order 15

(1) NO*
(2) 0,"
(3) N,*
(4) C,*
Options:

187380666, 1
157 380BEEE. 2
157380BEEY. 3
1573806E6E. 4
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ATa ToEGT AT HH Haigs ©, 98 ©

(1) NO*
(2) 0,"
(3) N,*
(4) C,*
Options

1873806665, 1
157380BEEE. 2
157380BEEY. 3
1573806E6E. 4
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The frequency of O — H stretch occurs at ~3600 cm™!. The O — D stretch frequency (in cm™1)
would be closest to

(1) 3000
(2) 2600
(3) 1800
(4) 900
Options:

1B87a80eEE3. 1
1873806670, 2
1573806671, 2
1573806672, 4
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(1) 3000

(2) 2600

(3) 1800

(4) 900
Options:

1573806665, 1
1573806670, 2
1573806671, 3
157380EET2. 4
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The value of a physical variable was found to be 196, 198, 194, 199 and 198 in a set of five
mdependent measurements. The average value and the standard deviation would be closest,
respectively, to

(1) 198 and 2

(2) 197 and 4

(3) 197 and 2

(4) 198 and 4
Options:
1573806673 1
1573806674, 2
1873806675, 2
1873806676, 4
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(1) 198 TT 2%

(2) 197 AT 4 &

(3) 197 G972 &

(4) 198 2T 4 &
Options:
1879806673, 1
1879806674, 2
1879806675 2
1879806676, 4
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The titration of 4.4 g of a polymer having carboxylic acid end group requures 11 mL of
0.02M NaOH. The average molar mass (in kg mol™?) of the polymer is

(1) 40
(2) 20
(3) 15
(4) 10
Options:

187ag0ee7v. 1
157380BEYE. 2
1573806673, 3
1573806650, 4
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(1) 40
(2) 20
(3) 15
(4) 10
Options:
1879806677, 1
1879806678, 2
1879806679, 3
1879806680, 4
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A liquid of density 1.1 g em™ climbs to a height of 5.0 cm when a capillary with internal radius
of 0.2 mm 1s dipped into it. The surface tension (in Nm™?) of the liquid is closest to

(1) 0.05

(2) 0.108

(3) 0.018

(4) 0.005
Options:

1573808681, 1
1873B0BEEZ. 2
157 380BEES. 3
1573806654, 4
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(1) 0.05

(2) 0.108

(3) 0.018

(4) 0.005
Options:

187as0eEs1. 1
1573B0EEE:. 2
1573806685,
1573806654, 4
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Consider a two-level system in which the excited state, separated from the ground state by

energy &, 1s doubly degenerate. The fraction of the molecules in the excited state, as T — oo,
15

1
(1 3
1
(2) 3
s
(3) 3
(4) 1
Options:

1873806685, 1
157 380EE8E. 2
1573806687, 3
1573806EEE. 4
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1
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Options:

1873806685, 1
1573806686, 2
157380EEEY. 2
157380EE5E. 4

Question Number : 53 Question Id : 1879801673 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The cell potential (in V) of a Ag/AgCl/KCl electrode connected to the standard hydrogen
electrode at 298 K 1s closest to (Given Efszc1/agci—y = 0-222 V and assume that the activity of
KCl1s 0.01)

(1) 0.197

(2) 0.297

(3) 0.340

(4) 0.440
Options:

187a80eEE3. 1
1873806630, 2
1573806631, 2
1573806632, 4
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(1) 0.197

(2) 0.297

(3) 0.340

(4) 0.440
Options::

1873808689, 1
1573808630, 2
1873806631, 3
1573806692, 4

Question Number : 54 Question Id : 1879801674 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

If the rate constant for a base catalyzed ester hydrolysis reaction is 0.20 L mol! s!, half-life
(in s) of the ester (Given [ester], = [base], = 0.05 mol. L-1) would be closest to

(1) 40
(2) 100
(3) 140
(4) 200
Options:

18738066393, 1
1573806634, 2
1573806635, 2
1573805636, 4
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(1) 40
(2) 100
(3) 140
(4) 200
Options:

18738066393, 1
1573806634, 2
1573806635, 2
1573805636, 4

Question Number : 55 Question Id : 1879801675 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5

The hydrogen atomic orbital given by Nr2e "/?%0(3 cos? § — 1) represents
(1) 2p orbital
(2) 3p orbital

(3) 3d orbital

(4) 4d orbital
Options:
1579806697, 1
1579806698, 2
1579806699, 2
1579808700, 4
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(1) 2p DED B
(2) 3p PED DI

(3) 3d FEHD T

(4) Ad FES BT
Options:
1879806697, 1
1879806698, 2
1879806699, 3
1873806700, 4
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Molar composition of a mixture of P and Q at equilibrium 1s 3:1 (P:Q). A small disturbance
composition results in change of chemical potential of P by 10 ] mol~!. The chemical potential
of Q will change (in ] mol™1) by:

(1) 30

(2) 3.3

(3) —30

(4) —3.3
Options:

1873806701, 1
1873806702, 2
1873806703, 3
1873806704, 4

Question Number : 56 Question Id : 1879801676 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0.5



P G Q & B &1 Wiy argwen § He Wued 3:1 (PQ) ¢l §ued ¥ U B W
T QT P S THIHS faWa F 10 ] mol~! &1 Ufiaey &7 ol T Q& TEEIHG fawa
# fofar gfiaa (] mol=1 #) o W, 9% ©

(1) 30

(2) 3.3

(3) —30

(4) —-3.3
Options:

1873806701, 1
1573806702, 2
1873806703, 3
1573806704, 4

Question Number : 57 Question Id : 1879801677 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0.5

Consider the entropy changes in a system undergoing transformation, as depicted in the
diagram, below

AS,

L 3

AS
50°C 2> 75°C
AS B

The correct statement among the following 1s

25°C

(l} 551 = ﬁSz and AS = &Sl + 552

(2) .'i'l.sl = ..'E'I.SE Eﬂd AS # ﬂSl + 552

(4) ASy = AS; and AS = AS; + AS,
Options:
1879806705 1
1879806706, 2
1879806707 2
18739806708, 4
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AS
25°C L 50°C > 75°C

AS ]

P

(1) AS, = AS, TATAS = AS; + AS,

(2) AS, > AS, TATAS # AS, + AS,

(3) ASy = AS, TATAS = A5y + AS,

(4)  AS; > AS, TATAS = AS; + AS,

Options:

1879206705 1
1879806706, 2
1879806707, 2
1879806708, 4
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The Miller index for the plane as shown 1n the figure and parallel to the c-axis, 1s

(1) 110
(2) 120
(3) 210
(4) 220

Options:



1873806703, 1
1573806710, 2
1573806711, 2
1573806712, 4
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(1) 110
(2) 120
(3) 210
(4) 220
Options:

1573806703, 1
1873806710, 2
1873806711, 3
1573806712, 4
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Correct Marks: 2 Wrong Marks: 0.5

A cube does not have the symmetry element

(1) Gy
(2) Cs
(3) Cy
(4) Ce
Options:

1873806713 1
1573806714, 2



1873806715, 3
1573806716, 4
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Correct Marks: 2 Wrong Marks: 0.5
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(1) C;
(2) Cs
(3) Cs
(4) Ce
Options:
1873806713 1
18739806714 2
1879806715 2
1879806716, 4
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The correct match for the drug molecules 1n the Column A with their medicinal use 1n Column
Bi1s

Column A Colunn B

N
- N -

S 07 R

P P 1 Anaesthetic

H N

Procaine
0

OH rﬂ\
Q |ﬁ%ﬁ1/ \nf’“ﬁ ii. | Anticoagulant
L"Pj ‘-_D-" :-'.‘O 1"“\«,\_\_--F'_"J

Warfarin
MNH,

{F H
Ph— ; H
N

_-f-*'s‘x
R o '

—N .
043’ \[f’l\

COzH
Cephalexin

111 Antibiotic

(1) P-1:Q-1m;R—1

(2) P-nQ-1R—-m

(3) P-m:Q-1;R-u

(4) P-1:Q-m R-u
Options:
1573806717 1
1873806718, 2
1573806713, 2
1873806720, 4
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Procaine
0
OH ™~

0 | i | TR
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Cephalexin

(1) P-1Q-1uR—-m

(2) P-1nQ-1R-m

(3) P-ni; Q-1 R-u

(4) P—1iQ-ii: R
Options:
18798067171
1879806718, 2
18739806719 =
18739806720 4
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Question Number : 61 Question Id : 1879801681 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The rate-determining step in the catalytic synthesis of acetic acid by Monsanto process 1s

(1) oxidative addition of CH:I to [RhI(CO)]”

(2) nugration of CH;s group to CO of [RhI:(CO)2(CH:)]

(3) loss of CH3COI from [RhIz(CO)(COCH3)]™

(4) coordination of CO to [RhI;CO(COCH;)]”
Options:
18798067211
1879806722 2
1579808723 3
15798068724 4

Question Number : 61 Question Id : 1879801681 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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(1) [RhI(COR]™ § CH:l &1 STaHTdHI0 Hdhe
(2) CH; 19 @7 [RhI:(CO)(CH:)” & CO T I+
(3) [RhI3(CO)(COCH:)]™ & CH:COI &1 afd

(4) [Rh:CO(COCH:)]”H CO &1 STAGHANTT
Options:
15798067211
1879308722 2
1579808723 3
1579806724 4

Question Number : 62 Question Id : 1879801682 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
The cluster types of [Fes(CO)14N]™ and [Cog(CO)13N] ~ are, respectively,

(1) nido-, nido-

(2) nido-, closo-

(3) closo-, nido-

(4) closo-, closo-
Options:
18798067251
1879806726 2
1579808727 3
18798067258, 4
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[Fes(C0)14N]~ T [Cos(CO)1:N]~ &, Tereed UdTE &, HAI
(1) nido-, nido-

(2) nido-, closo-

(3) closo-, nido-

(4) closo-, closo-
Options:
1579808725 1
1872806726, 2
1879806727 3
1879806725, 4
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In the electronic spectrum of [[rBrg]*", the number of charge transfer band(s) and their origin
are_ respectively

(1) Two, ligand = metal (¢ = t;; and ¢ = a;.*)

(2) One, ligand = metal (c = eg)

(3) Two. ligand = metal (¢ = tr;and ¢ = e;)

(4) One, ligand = metal (¢ = t)

Options:

1879806729 1
18739806720 2
1879806721, 2
1879806722, 4

Question Number : 63 Question Id : 1879801683 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1

[tBrs]> & Solgcliad WacH ¥ 3709 AT70 dvsl &7 Hi 920 396 S99 ©, Ha

S

(1) gl Torfvg =2 9T (0 = te TUTo = ai*)

(2) T, TorTs > 91 (6 > &)
(3) 31, foFTe > 9T (6 > 1, T 6 > &)

(4) Td, TelTvs = 81 (o = tyy)

Options:

1879806729 1
1879806720, 2
18738067321, 2
18739806732 4

Question Number : 64 Question Id : 1879801684 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The main product of nucleophillic attack of H™ on the complex 1on given below 1s

(1)

(2} l.{____ MGH s
rh-_.-f _II" If_-':"'

{3) Ma
A

(4) MDE
VY

Options:

1879806723 1
1879806724 2
1879806735 3
18739806736 4
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Options:

1879806723 1
1879806724 2
1879806735 3
1879806736, 4
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Choose the equilibria from the following that are NOT favoured to go to right:

(A) As:Ss+ 5 HgO As0s + 5 HgS

(B) Lax(C0Os): + BaSs La>S: + Bia(CO3)3
(C) CdSOs + CaS CdS + CaS0;

(D') BeF: + Hg:[g Bel: + HgFg

(1) Aand B
(2) AandC
(3) Band C

(4) B and D
Options:
18738067371
1573806738, 2
1573806733, 3
1873808740, 4

Question Number : 65 Question Id : 1879801685 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
f=feTiad # § 99 9=l &1 991 Sifaq fa=ar siieAl AN 9= e T8 o

(A) As,Ss+ 5 HgO As)0s + 5 HgS

(B) La:x(COs)3 + B125; La:S; + B12(COs)s
(C) CdSO4 + CaS CdS + CaS0s

(D) BeF: + Hglx Bel: + HgF>

(1) ATITB

(2) ATAIC

(3) BdHArC

(4) B TATD
Options:
1879806727, 1
1879806738, 2
1872806739, 2
1879806740 4

Question Number : 66 Question Id : 1879801686 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The correct statements for dithiomte and dithionate anions from the following are
(A) both have S-S bond

(B) both are dianionic

(C) oxadation state of sulphur 1s +3 and +5, respectively

(D) sulphur m dithionate has lone pair of electrons

(1) A BandC
(2) A BandD
(3) B CandD

(4) A and B only

Options:

15379206741 1
1879806742 2
1879806743 3
15879806744 4

Question Number : 66 Question Id : 1879801686 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.

EEETI'EFFI'I?E T SIEAMEMT FOmEHl F oy Ffeias # & w6 5o §
(A) SFT 5 S-S 2T T |

(B) &1 T—=roma=i © |

(C) Tom, ATFETRIT STONT HES +3 TAT+5H T

(D) SIEUME & Heh? T USHS! Selde™ g ©

(1) ABTAIC

(2) A BTATD

(3) B, C 21D

(4) Hadcl ATATB
Options:
1879806741, 1
1879808742 2
1B79B06743. 3
1E79B06744, 4

Question Number : 67 Question Id : 1879801687 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The species for which the shapes (geometry) can be predicted by VSEPR theory 1s/are
(A) [PICL]*"

(B) [TeCls]*

(C) PF;3 and SFs

Answer 15

(1) AandC

(2) Band C

(3) C only

(4) Aand B
Options:
1573806745 1
1573806746, 2
1573806747 3
1873806748, 4

Question Number : 67 Question Id : 1879801687 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

VSEPR fHEMT W o9 w099 @& &9 (WIfaf) & 99 S9A-a &7 @od ©, 96 6/ 5
(A) [PtCly]*

(B) [TeCls]*™
(C) PF; TT SFe

Y ©
(1) ATAT C

(2) BdAIC

(3) el C

(4) ATHANB
Options:
1573806745 1
1573806746, 2
1873806747 2
1573806745, 4

Question Number : 68 Question Id : 1879801688 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Among SO,(OH)F, CH3CO:H, LiF and H>O, the compound(s) which behave(s) as a base m
hqud HF 1s/are

(1)  CH;CO,H and LiF only
(2) LiF only
(3) SO2(OH)F and LiF only

(4) CH:CO;H, LiF and H,O

Options:

1879806749 1
1879806750, 2
1879806751, 2
18739806752, 4

Question Number : 68 Question Id : 1879801688 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

SO,(OH)F, CH;CO.H, LiF T2 H,0 ¥ § g d1f1s /s IifTel &1 9 HF § &4/ Ordr
@aE Gl ©, 96 o /8 |

(1) Tacl CH;CO,H T2T LiF
(2) &ael LiF
(3) @ac] SO.(OH)F TT LiF

(4) CH:CO;H, LiF 7207 H,O

Options:

1873806749 1
18739806750, 2
1879806751, 2
1879806752, 4

Question Number : 69 Question Id : 1879801689 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Complex(es) which has'have unpaired electron(s) that 1s equal to that of iron center in
oxymyoglobin 1s/are
A [Fe(ox)3]*

B. [Fe(CN)s]™
C. [NiCly]*™
D. [Cu(NH;):]*

(Given: ox = oxalato)

Correct answer 1s
(1) Aand B
(2) BandD

(3) C only

(4) CandD
Options:
1573806753 1
1573806754, 2
1873806755 2
18732806756, 4

Question Number : 69 Question Id : 1879801689 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e

Hae foraH /Hadl o= agRea SoagEl & W Agamanaed @ J0E s ©
A. [Fe(ox)s]*

B. [Fe(CN)]™

C. [NiClJ*

D. [Cu(NH;)s]**

(ﬁ'EIT T ox= Gﬁm

q:ﬁil 1NN A ﬁ
(1) ATATB

(2) BTATD

(3) FTeT C

(4) CTAarD

Options:



1873806753, 1
1573806754, 2
1573806755, 3
1573806756, 4

Question Number : 70 Question Id : 1879801690 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In spectrofluorimetric determination in solution
A absorbance of analyte solution 1s kept near to 0.05
B. oxygen 15 eradicated from solution
C. pH of solution 1s controlled
D. wavelength of incident light 1s always above 400 nm
Correct from the above 1s

(1) A BandD

(2) B, Cand D

(3) A BandC

(4) A CandD
Options:
1573806757, 1
1573806758, 2
1873806759, 2
18732068760, 4

Question Number : 70 Question Id : 1879801690 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



ey § Wagd wiaarraqnl fueer & forg

A favers @ fdergs @1 a9 0.05 & ATEIE T9d © |

B. faerea & anwfio= & Sferd & <4 ©

C. faeras & pH &1 Fafa &9 £ |

D. Tafad e a0 &1 99 S84 400 nm ¥ HST AF TET §

FUITET ol FTe :

(1) A BTTD

(2) B, C T D

(3) A BTAIC

(4) A CTATD

Options:

1879806757 1
1879806758, 2
18739806759 2
18739806760, 4

Question Number : 71 Question Id : 1879801691 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Match the items 1n Column I with those of Column IT.

Column I (species) Column IT (structure/properties)
a NaH 1 polymeric chain

b BeH; 11 | interstitial hydride

C HfH» g ui | tricapped trigonal prismatic
d [TcHs]* iv | saline hydride

The correct match 1s

(1) a-1v, b-u1, c-11, d-1

(2) a-1, b-1v, c-11, d-1n

(3) a-1v, b-1, c-11, d-m

(4) a-1v, b-1, c-11, d-u



Options:

1879806761, 1
18739806762, 2
1879806763 2
15379806764, 4

Question Number : 71 Question Id : 1879801691 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HTeTq I DT J981 & Hed I F Hae sifay

HIerH I (FeTa) HIerE I (F2aT /0T E)

a NaH i GG EA R EC[S]

b BeH, ii ATIREN TEESe

c HiH> 10 111 Fredqgd Eade e
d [TeHs]* v R ENIE B ET LS

(1) a-1v, b-u1, c-11, d-1

(2) a-1, b-1v, c-11, d-1n

(3) a-1v, b-1, c-11, d-m

(4) a-1v, b-i, c-iii, d-ii
Options:
1579806751, 1
1579806762, 2
1579806763 3
1579806764, 4

Question Number : 72 Question Id : 1879801692 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



In Mssbauer spectrum of a sample containing iron recorded 1n the presence of a static
magnetic field, the number of possible allowed transition(s) 1s

(1) Two

(2) Four

(3) Six

(4) Eight
Options:

1873806765, 1
157380E7EE. 2
1573B0E7EY. 3
18738067 EE. 4

Question Number : 72 Question Id : 1879801692 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

B C

U T o e €, &1 Hiedr Wags wWide ey &9 6 suierd 4 e
fEhaT 14T | HHG A0 WHAUI B EE © |

(1) al
(2) =
(3) 2
(4) AG
Options:

1873806 7ES. 1
1873B0E7EE. 2
187380B7EY. 3
1573806760, 4

Question Number : 73 Question Id : 1879801693 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



FeCr204 and N1Gaz04 have normal and inverse spinel structures, respectively. The correct
statement 1s

(1) Fe(II) and Ni(IT) occupy octahedral sites
(2) Fe(II) and Ni(IT) occupy tetrahedral and octahedral sites, respectively
(3) Cr(II) and Ga(IIT) occupy only octahedral sites

(4) Cr(IIT) and Ga(III) occupy tetrahedral and octahedral sites, respectively

Options:

1879806769 1
1879806770 2
1879806771, 2
18739806772, 4

Question Number : 73 Question Id : 1879801693 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[

FeCr,04 T2 NiGa,0, T HIT1d AT "HENT T97 Uigens faaa § 1 "ol ©24

iy 5

(1) Fe(I) T2 Ni(Il) AHeld T I S T50T S §

(2) Fe(II) TAT Ni(II) FHIT, TqUheidd 2T TEHDHT Well &l T50 T ©

(3) Cr(IIT) TAT Ga(Ill) Hacl JCHTHIT WIET B T HId ©

(4) Cr(II) T Ga(Ill) 99T, TAUFeTH T T JEHaHT T=rel Bl T60 B §

Options:

18738067639 1
18739806770, 2
1579806771, 2
1879806772 4

Question Number : 74 Question Id : 1879801694 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The correct order of metal—carbon distance 15

(1) Fe(1’-Cp)z > Co(n’-Cp)a = Ni(n’-Cp)a
(2) Fe(n’-Cp)z = Ni(17’-Cp), = Co(n’-Cp):
(3)  Ni(-Cp): > Fe(1’-Cp) > Co(’-Cp):

(4) Ni(n’-Cp): = Co(1’-Cp)a > Fe(’-Cp):
Options:
1879806773 1
1379806774, 2
1879806775, 3
1879806776 4

Question Number : 74 Question Id : 1879801694 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(1) Fe(n’-Cp). > Co(n’-Cp), = Ni(n*-Cp):
(2) Fe(1’-Cp)z > Ni(1-Cp)2 = Co(n’-Cp)z
(3) Ni(n>-Cp)z = Fe(1’-Cp), = Co(n’-Cp):

(4) Ni(1*-Cp)z > Co(’-Cp) = Fe(n’-Cp):
Options:
1879806773 1
18739806774 2
1379806775, 2
1879806776, 4

Question Number : 75 Question Id : 1879801695 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The major product of the following reaction 1s

PPMes)s + O={ —

0
Me4R
(1) \ ’JJ\:F3

Pt
™
MEQP GF;1
MeP, GFs
N,
(2) ’_,Pl/tGFa
Me,P ~4
MesP, 2
\ _c. CF
(3) e Ty

a CFy
\“\ }
(4) Fac.| Pt | CFs
N
|8
CF,

Options:

1879806777 1
1879806778, 2
1879806779, 2
1879806780, 4

Question Number : 75 Question Id : 1879801695 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



[ Fal - s =
eI faihar o 9% 9ee ©

CFy
Pi{PMes), + O= —
CFy

0
e,y R,
(1) \ ’JI\{:FE,

rl.ﬂn;jP\
(2) ;,Pl/tGF:i
MesP” ™

(3) R Y

o

.
(4) Fac. | ~Pt| CFa

Options:
15379206777, 1

1873AB0EY TR, 2
1873806774, 3
1573806750, 4

Question Number : 76 Question Id : 1879801696 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct match of spin-only magnetic moment for the complexes cis-[Fe(phen):(INCS-N):]
(A) and [Fe(phen);]Cl> (B) at 300 K 1s (phen = 1,10-phenanthroline)

(1) 4.89 BM for both A and B
(2) 0 BM for both A and B
(3) 4.89 BM for A and 0 BM for B

(4) 0 BM for A and 4 89 BM for B
Options:
1879506781, 1
1EB7AB06FE2. 2
1B798067FE=2 =



1873806754, 4

Question Number : 76 Question Id : 1879801696 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
300 K 97 Ta@all cis-[Fe(phen):(NCS-N)] (A) T [Fe(phen):]CL (B) & Sac 99 gHGI
SOt ST Wl HeT T (phen = 1,10-5-721e)

(1) ATATB, A & U 4.89 BM
(2) ATTB, S & 270 0 BM
(3) AT 0T 489BM T2TB & o0 0 BM

(4) AT O[T 0BMTATB & fIU 4.89 BM
Options:
1879806781, 1
1E7IBOE7ER, 2
1B79B06783. 3
1E79B06784. 4

Question Number : 77 Question Id : 1879801697 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Match Column I IT and III

Column I (metal) | Column II (enzyme) Column IIT (end product)
AN 1 | Carbomic anhydrase | X | uric acid

B |Zn 11 | Xanthine oxidase Y | methane

C | Mo 11 | Coenzyme Fa3o Z | carbonic acid

The correct match 1s

(1) A-u-Y; Ba-Z; C-u-X

(2) Aaun-Y, B-u-X; Ca1-Z

(3) A-u-X; B-Y; Can-Z

(4)  AiX;Biii-Z; C-ii-Y



Options:

1879806785 1
1879806736 2
1879806787, 2
15879806788, 4

Question Number : 77 Question Id : 1879801697 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HeE [ OTATIL &I FAemT @Ifay

TeTH I (U oA IT (T 15 H) BIorH I (3T §cdTs)
A | Ni 1 BHEI-H UeSgul X | giNd 2T

B | Zn il | OrEe ofddew | Y | ®E

C | Mo m | Ho—Urdl2H Fap Z | dEiAs o

(1) Aau-Y; B1a-Z; C-u-X

(2) Aau-Y; B-u-X; Ca-Z

(3) A-11-X; B11-Y; Can-Z

(4) A-X B-mn-Z; C-1-Y
Options:
1573806785 1
1573806786, 2
1873806787, 2
1573806738, 4

Question Number : 78 Question Id : 1879801698 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Match the items m column I with those of column IT

Column I Column IT

a. Conductometric titration 1. Voltage

b. Amperometric fitrations 1. Resistance
c. pH metric tiration 1. Al

d. Dafferential pulse polarography . Iy

Correct match 1s

(1) a-11; b-1v; c-1; d-i11

(2) a-iii: b-1; c-ii; d-1v

(3) a-111; b-11; c1v; d-1

(4) a-1; b-111; c-1v; d-11
Options:
1879806759, 1
1579808790, 2
1379206731, 2
1879806792, 4

Question Number : 78 Question Id : 1879801698 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



FHTcTH 1D 931 BT DieH D H Ho SIfay

HTeH 1 e 11
a_ TTCTHUAT G STTATI i dleca
b. SIS A ii. TTeraRT
c. pH-TAETT o AT iii. Al
d. faHeT W= gaur oIige! v Iy

(1) a-11; b-1v; c-1; d-i1

(2) a-11; b-1; c-11; d-1v

(3) a-111; b-11; c-1v; d-1

(4) a-1; b-1ii; c-1v; d-11
Options:
1879806759, 1
18798067320 2
18798067391, 2
15798087492 4

Question Number : 79 Question Id : 1879801699 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The correct statement about base hydrolysis of [Co(py)«Cl]"™ (py = pyridine) 1s

(1) rate expression 1s, Rate = k[Co(py)sCL][OH]

(2) reaction does not depend on hydroxide 1on concentration

(3) reaction proceeds through 5,1 CB mechamsm

(4) intermediate involved i this reaction 1s [Co(py)sCL(OH)]

Options:

18798067393 1
1879806794 2
1879806735, 2
1879806736 4



Question Number : 79 Question Id : 1879801699 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

[Co(py)4CLa]" (py = TARE) & &TR-STel 3199es & felv Hgl Foe g

(1) &l &olF g, &l =k[Co(py)sCLITOHT |

(2) BISSIHISS RIS T Alegar 9¢ ATATRar Tt s18T &ar g1
(3)  s,:cB franfafer & sfafRar g 8

(4)  [Colpy)«CL(OH)], 39 3fafFar & wrafog awgadf &

Options:

1879806733 1
1879806734 2
18739806735, 2
1879806736, 4

Question Number : 80 Question Id : 1879801700 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the following statements:

(A) The highest oxidation state of Group 8 elements 1s more readily shown in their oxides than
in fluorides.

(B) Fe can exist in —2 formal oxidation state also.
(C) Mn, Tc and Re easily form M(II) compounds.

The correct statement(s) 15/are

(1) AandB
(2) Aand C
(3) Band C

(4) C only

Options:

1879806737 1
18798067938, 2
18739806799 2
1879206200, 4

Question Number : 80 Question Id : 1879801700 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
(A) TU 8 T ToAl BT Wated ATTHTHI0 STINIT TSiATISS! & U, ATqETsS! § s
(B) Fe, —2 HTHd ATTEIHI0T gl § WY faeH= 81 9odr &
(C) Mn, Te 92T Re ITHHI ¥ M(I) TFT& 9910 ©

(1) A TIT B

(2) ATAIC

(3) BOAUIC

(4) & ol C
Options:
1572806737, 1
1573806735, 2
1573806733, 3
1573806300, 4

Question Number : 81 Question Id : 1879801701 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The intermediate A and the major product B formed in the following reaction are

Bn Mel heat

! > [A]
Me. -~ _-N._-CO:Me  K,CO,
DBU, DMF

y
m

M
Brl1 H@ fj;{:; Me
(1) [Al=Me._~_NECOMe B= ANk

A AN e

Me En
Bn e
- |C+:] -_— :L
@ W=ye . _N? coMe B MewNoo v
Me © Bn

Bn }{@ = ~Me
(3)  [A]= Me N.©.COMe B= L COMe
NN ? HN

\[/ | Me

e Bn
o _._'-.'I"'lll'E
o -
i Al = £ B= Me. ..,
( ) [ ] MEM?%H'TW’CD?ME € N CDQME
Me © B|!|

Options:

1879806801, 1
1879806802, 2
18739806203 2
1579306304, 4

Question Number : 81 Question Id : 1879801701 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



FrfeTige aIffehar § Aegad] A 927 9T 5% SWe B G

Bn Mel heat
| = [A] = B
ME-E?AVNHJCGQME K,CO4
DBU, DMF

M
B? H@ fj;{:; Me
(1) [Al= Me._~_NEQCOMe B= ANk

7 N e

Me Br"l
Bn e
= | E':l = L
@ W=me NP coMe B= MesrNeo o
Me © Br|1

Bn H@ = ~Me
(3)  [Al= Me N.©.COMe B= JCOMe
R 2 HN

\[/ | Me

Me En
o ___-‘M'E
R -
4 _A = + E = MEH ey,
(4) [A] MEE?%,.F;JWFCD?ME N~ 'CO;Me
Me © B|!|

Options:

1879806801, 1
18739806202, 2
187398062032 2
15379806304, 4

Question Number : 82 Question Id : 1879801702 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The major product formed in the following reaction 1s

1. PhCH=CH;
0 PdCl.(PPhs).
P Et;N, DMF
-~ B .-'J‘I\D,-’H“‘n,ﬁ 3 -
| L 2. Grubbs' 2"
MeQ | generation

catalyst, CgHg

o
(1) /Ex( o
MeO =/

Q
Ny 0
(2) Lf )
MeO =

Ph

?
Ay O
(3) L{ )
MeO™ = ----ﬂ'

Ph

0
(4) /E :‘: y

MeQ™ —
Options:
1879806805, 1
1573808306, 2
1873806207, 2
1573806205, 4

Question Number : 82 Question Id : 1879801702 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



fer=ifertiad afifirar § faefaa gve 9w €
1. PhCH=CH,
0 PdCIy(PPhs);
-  EuN,DMF

/E:‘x 0 -
2. Grubbs' 2"¢

N

MeOQ |

generation

catalyst, CgHg

o
(1) /“/\ﬁli --D-x
MeO AN/

O
7 %
(2) L’ )
MeO

Ph

Q
0
(3) | )
MeO™ = ----&.

Ph
(4) /[”% 0
A
MeO F -/

Options:

15379206805, 1
1879806806, 2
1879806807, 2
1879806808, 4

Question Number : 83 Question Id : 1879801703 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The major products A and B formed in the following reactions are

O
1.
Y 1_Br"’“-/<‘?

Cl
_Buli,-78°C [T __Buli,-78°C
2. HgCl, S._-S 2. HgCl,

A

O
(1) A= \(M\ B= J\M
O H H O
o OH ©
@ A= LHPNP P |
CHO Br H
(9] 9]
(3) A= \(Q E=HJ\/\<‘
CHO O
O OH O
R Y T P P §
o H Br H
Options:

15738085805, 1
18738083810, 2
15738083811, 2
18738085812, 4

Question Number : 83 Question Id : 1879801703 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



P

Frferiad arfafiranetl # faefed i IWE A OB |

O
Cl 'I.Brfﬂ“"fﬂ\“"
A T .70
A £BU|—I1 78 °C r j Buli, -78 l'.:2 B
2. HgCl, S._-S 2. HgCl,
] O
S R N NN
H H
O O
o OH ©
(2) A= \(Q 8= /\)\)L
CHO Br H
0] 8]
(3) A= 'HT’AQJ B = HJLHfﬁa{ﬂ
CHO O
O OH O
(4} A= YI\)L B = /\)\/U\
0 H Br H
Options:

15738085805, 1
1873806810, 2
15738083811, 2
18738065812, 4
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The correct order of the reactions involved in the followmg transformation 1s

O
1, )J\f Ve
9] 98% H?S‘:}d_ 0 F'J,.-'D'ME
Br CO,Me 78°C S
= o )
@ i
Li C—)”JFl:IHDME COsMe
OMe

-78 °C-rt, THF
(1) Michael addition, Quasi-Favorskii rearrangement, Aldol condensation
(2) Quasi-Favorski rearrangement, Michael addition, Aldol condensation

(3) Michael addition, Aldol condensation, Quasi-Favorsku rearrangement

(4) Aldol condensation, Quasi-Favorsku rearrangement, Michael addition

Options:

1879806813 1
18739806814 2
1879806815 2
1579806316, 4
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fFfeIiaa waiaey] _:f Hrfera afafsg «;—lf H Hol HH ?

O
1 A MeO
()] 98% H?SDd, O F'J,.-'D'MB
Br CO,Me 18°C )
= o )
@ P
Li &1 "OMe CO;Me
OMe

-78 °C-rt, THF
(1) AEH e WHeH, JaME—harD [Aa-ard, eeld He-
(2) FATHI—hdl&h [Aa-ard, Al5de A, Ueeld Ha=A
(3) A6 AaoHd, Uesld |o+-, TH—hard TAg=ard

(4) UCeId WO, T —Ddn | JAaeard, Alsde Ao
Options:
1879806813, 1
1E79B06814, 2
1879806815, 3
1E79E06516, 4
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The structure of the compound, which displays the following spectral data 1s
IR = 1690, 1100 cm™*

'H NMR.: 5 2.8 (s, 3H), 3.8 (s, 3H), 6.9 (d, T= 8 Hz, 2H), 7.8 (d, T = 8 Hz, 2H)
BC NMR: § 197, 165, 130, 129, 114, 56, 26

il __,-D -
(1) f“‘] r
= O

(2)
O
(3)
~o

O
(4)

D.--"

Options:

15738085817, 1
1573806818, 2
15738083813, 2
18738085820, 4
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Correct Marks: 4 Wrong Marks: 1



Afafigg Weed aiiegs @1 difTed uefeia &9ar § S9a! 99 ©

IR = 1690, 1100 cm™*

'HNMR: 5 2.8 (s, 3H), 3.8 (s, 3H), 6.9 (d, T=8 Hz, 2H), 7.8 (d, J=8 Hz, 2H)
BC NMR: 5 197, 165, 130, 129, 114, 56, 26

" O~
(1) f“] bl
AL O

(2)
O
(3)
~o

O
(4)

Dx"

Options:

15738085817, 1
1873806818, 2
15738083813, 2
18738085820, 4
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The correct absolute configuration of the following compounds 1s

(1) I.M:; II R
(2) I-M; II: S
(3) I.P; II' R

(4) I-P; II: S
Options:
18798068821, 1
1879806822, 2
1879806823, 3
1879806824, 4

Question Number : 86 Question Id : 1879801706 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Fferad diiTe] o Hel =ous favamd ©

N
&

(1) I M: II' R

(2) I M; II: S

(3) I-P; II:R

(4) I.P;: II:S
Options:
1879806321 1
1379806822, 2
15879806823, 2



1873806524, 4

Question Number : 87 Question Id : 1879801707 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The major product formed in the following reaction 1s

(1)

(3)

(4)

Options:

1879806825 1
1879806826, 2
1879806327 2
1879806228, 4
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Correct Marks: 4 Wrong Marks: 1



YTeTiae T AT aT H favied 950 9wE T

<l-§? BF;OEt,

(1)

(3)

(4)

Options:

1579806825 1
1879806826, 2
1879806827, 2
1879806328 4
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The compound that shows peaks in the EI mass spectrum at
m'z 121, 105, 77, 44 1s

(1) |

Options:

1879306329 1
18739806220 2
1579806821, 2
1879806822, 4
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EI 309 Waed ¥ W 3d m/z 121, 105, 77,4479 f¥Rge goiiar &, @5 ©

(1) |

Options:

1879806829 1
1879806820, 2
18739806321, =
1879806832 4
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Correct Marks: 4 Wrong Marks: 1



The major products A and B in the following reaction sequence are

NH-MNH-
H-0./NaOH a AcOH

Y
m

(1) A=
(2) A=
(3) A=

4) A= > s B

Options:

1879806823 1
15879806824 2
1879806335 2
1879806226 4

Question Number : 89 Question Id : 1879801709 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



fr=ferfiga aifaferar &9 & T3 S@s ATT BE

NH,NH,
Hp0o/NaOH AcOH

Y
m

(1) A=

(2) A=
-0 .0
/‘f‘ at -~ - W

(3) A= d i\ B = [f xffﬂ_m
o 0 R

.0
(4) A= [""“‘1"’{1‘1 B=

Options:

1879806822 1
15798063824 2
1879806835, 2
18798068326, 4

Question Number : 90 Question Id : 1879801710 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
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The major product formed in the following reaction 1s

AcO p-TsNHNH ,
AcOH

f NaBH;CN
A 70 °C

) L

@ |
AcO. .
(3) .
)
T
=
4 L
Options:

1873808837, 1
1873B0EE3E. 2
18738065829, 3
1573806540, 4
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Feferfiad arfdferar & favf=a 9w Iae ©

AcO p-TsNHNH 5
AcOH

- NaBH;CN
H 70°C
AcO._ J\H
® L
fJQQ

o
|

@ |
AcO. .
(3) .
)
e
=
4 I
Options:

15738085837, 1
18738085328, 2
15738065829, 3
1573806540, 4
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TRUE statement regarding Hammett reaction constant (p) for the following transformations
given in equations A and B 1s

CO,Et PAC coo®
/©/ L @’ +  EtOH (Equation A)
X X
/@/\/CDEEt HD‘E] CDDS
— . /@N + EtOH  (Equation B)
A X

(1) p for A and B 1s same and positive
(2) p for A and B 15 same and negative
(3) p for A 1s larger posifive value than for B

(4) p for A 1s negative and for B 1s positive

Options:

18739806841, 1
18739806342 2
18798062432 2
1579806344 4

Question Number : 91 Question Id : 1879801711 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



THI@IO A T2 B H fav ffoiiad suiaeon & 70 e fafhar feeid (p) @ daw
¥ wWel FIA &

CO,Et HD@: coo”
/©/ L /©/ +  FEtOH  (Equation A)
X X
/@/\,coza Ho® coo®
/@A/ + EtOH (Equation B)
X X

(1) ATABS foIU p 94 a1 T4 ©

(2) ATAIB S I p THN TAT 0TS © |

(3) B @7 ITRT AD fo0 p &7 919 I5d T9ES ©

4)  AS forw p o A9 FUTES AN BS R oS §
Options:
15793065341 1

1879806842, 2

1573806545, 2
1573806544, 4
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The reaction that gives (E)-2-methylhex-3-ene as the major product 1s

SIME'3

(1) \l/
H.PO
(2} - J\( I:eat4

BF4.0OEL,
_ =

"':'El L
PPh4Br
(3) {__.-"d“" ._-_-'_,'D -
H t-BuOK
erD
)\/S N,
~ N
Ny
(4) o op N
/\f LIHMDS
heat

Options:

1879806845 1
1579806346, 2
1879806847, 2
15879806848, 4
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JfafEraT S 7 SIE (E)-2-Hened-3-89 <dl ©, 95 ©

5iME‘3

!
(1) /E:l j/

HaPOy
2 o~ ———
heat

® e

PPhBr

BF4,OEL,
_ =

(3) P

K
g
Q
Y

t-BuOK

O O

WAy
)\/S _N,_
\T/ N

N-\_ Lr)
(4) or N

0 .
/\f LIHMDS i

H
heat

Options:

1879806845 1
18739806346, 2
1879806247 2
15379806548, 4
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The major product formed in the following reaction 1s

1. CHCls, KOH
Et -
2. H,0,, NaOH

HO

s

H04<F >7Et
(1)
HO
Ho—«i: ?fEt
(2)
OH
H04<f >7Et
(3)
HO,C
Ho—( \\"‘—Et
(4) :(
CO,H
Options:

1873806843, 1
18738065850, 2
1573806851, 2
1573806852, 4
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o
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FpfeTige arfafsar H favf=d 9w 9oe &

1. CHCl,, KOH
HDQEt =
2. H,0,, NaOH

Hc=4<; >7Et
(1)
HO
H(‘J—{: ?fEl
(2)
OH
HD_<, >—Et
(3)
HO,C
Ho— \\"‘—Et
(4) :(
CO,H
Options:

18738065843, 1
1573806850, 2
1573806851, 2
1573806852, 4

Question Number : 94 Question Id : 1879801714 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Products A and B formed m the following transformation of alkylidenecarbenes are

i A
Lo/~
?
fp E;'Er“““mﬂ ~., ———= B
H
(l} A = f{l'-é-__-;;ﬁfL"?H B - E:,:B_._f'_‘;_--.r--__}l
"..l__:::J.\\
H
= - 8]
(2) A= [oP4 B= [\@\
H
@ A m@ SN
H
H
(4} A= m B = 5
H

Options:

187938068532 1
15798063854, 2
1879806855, 2
15879806856, 4

Question Number : 94 Question Id : 1879801714 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1



IfemieTe MdIa] & A=elead wigo § fiefed A 927 B ©

c
o | — A
Lo o
-
Lo~ — ¢
Iy
e P A, |

(l} A ,.:'f'-D--._{:S-"".."? E ﬁ:{_‘_Df_\_ i
'|'___
=
H

@) A= f5—7H  B= éﬁ@\
H

(3) A= LEQ B = ﬁ@\
H
H

@ As L57 D e
H

Options:

1873808853, 1
15738063854, 2
1873808855, 3
15738065856, 4
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The major product formed in the following reaction 1s

o (-Pr)sSi_
C ﬂ')L Ticl,
Gﬁ -
(1) (}1
) >~Si{i-F’r]3

'I::I -
(2) [f ~Si(i-Pr)s
Si(i-Pr)s
3 i _
(3) 5
|
Si(i-Pr)y
(4) o

Options:

1879806857 1
1579806358, 2
1879806859, 2
1879806860, 4
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o
=

YTeTiae aTfRfear H i 9% 9E ©

(I-Pr)aSi~_

0
-~ .-""'U\
l \ll TiCly
S~

Gﬁ -
(1) (}:
>—5i{i-pr)3

Si(i-Pr);
(4) o

Options:
15379206857, 1

1873808858, 2
1573806859, 3
15738065860, 4
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The major product formed in the following reaction 1s
i. TiCly

0 0 LiAIH.
A A Th RO
5 TOMe ii. HyO*

(2) g j/"o
P

. O

CO,H

(4) C:?_\g
0

Options:

1879806861, 1
1879806862, 2
18739806362 2
1879806264 4
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o

YTeTiae aTfRfear H i 9% 9E ©

i TiCl,
j j’ LiAIH,
| —_—
AT oMe ii. Hy0"
O o0

@ fo
L

. O

CO,H

(4) C:(?_\g
0

Options:

18798063861, 1
18739806862, 2
1579806363, 2
1879806864 4
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The major product formed in the following reaction 1s

O t. NaCN
J,-" II.II N ca

O

/4
(1)  ©OHC GH x_-Ph
HO™ “Ph
/ | HO_ Ph
(2) <D""k“‘\”/>{“xf’f“ Ph
O
/= PhoO
<l JH
(3) o *'\”/ “‘“"J-I\Ph
8]
7
orc— |l
@) AP
T U
Ph ©
Options:

1573806865, 1
157380E56E. 2
1873B0EEEY. 3
18738065EE. 4
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Correct Marks: 4 WrongMarks: 1



eI arfaferar 9 favi=g 990 9e1s ©

O t. NaCN
JI." I"I. ca
O\CHD * F'h/vLF‘h :

O DMF

4
HO  Ph
G’;ﬂHD Ph
> A~p

(2) \”/ -

a Th 0
1}
8]
A
@) OHC <D;Lj;ﬁWTph
Ph ©

Options:

18792063865 1
1879806866, 2
15879806867, 2
15879806868, 4
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The major product A and the byproducts B formed in the following reaction are

S= I I_:::‘\_
1. NoN NN
“w/kT”A‘x - A + B
OH 2. P{GME}S, A
(1) A= - B=CO0, S=P(OMe);
(2) A= S B = 0=C=S, O=P(OMe);

(3) A= /7 \__ B=CO, S=P(OMe);

(4) A= /TN B = 0=C=S, 0=P(OMe),

Options:

1879806869, 1
1879806870, 2
18739806871, 2
1879806872 4

Question Number : 98 Question Id : 1879801718 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fr=ferfiga arfafrar § faefed Twu S A 92 Sures B E

{,-"::::1| II-'_:::\
p NN NN
7 !
H"m.-f ﬂ‘x . A + B
\[l; 2. P(OMe),, A
(1) A= ~_~u - B=CO, S=P(OMe);
(2) A= S B = 0=C=5, O=P(OMe);

(3) A= /TN B = CO,, S=P(OMe);

(4) A= /7 B = 0=C=S, 0=P(OMe),

| S

Options:
1879806869, 1
1879806870, 2



18738065871, 3
1573806872, 4

Question Number : 99 Question Id : 1879801719 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The major pr::-duct formed m the following reaction 1s

1. HBr
2. MeOH, H*
ﬁ 3. MeP DEt}z
4. H,0"
CO,Me
o 2T
NH.
Q
(2) ;E‘W/‘ﬁ/CD;gH
OH
NH,
@
(3) P~ COH
OH
?
OH

Options:

1879806873 1
1879806874 2
1579806875, 2
1879806876, 4
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1. HBr
2. MeOH, H"_
& 3. MeP( t::rEt}2

4. H;0"

CO,Me
o Y

(2) AP P

(8) P COH

(4) ;?WNH?

Options:

1879806873 1
1879806874 2
1879806875 2
1879806876, 4
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The intermediate A and the major product B formed in the following reaction are.

::l‘x H
/_'r(’)lr — [ﬂ];h-— B

HO oH N OH
& o on
(2 m- \ o = @:‘r
4 OH
HO OH A
¢ \ H
[A] = = OH
Hid H
¢ 4
= “OH
(4) (4] = A B= “\I:(
Y ~1\—on
HO  OH

Options:

1879806877 1
1879806878, 2
1879806879 2
1579306350, 4

Question Number : 100 Question Id : 1879801720 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
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feefef@d sfafaar & #egadt A g T #5g 3c9g B o

_ — H A

— S T e ol — 2 g
HO OH  Lindar's
catalyst

H e -
(1) [A] = ﬂa B= E[f -
& b
Hd "o RNTY
# % - o
(2) - N / 8 = Qﬂr
“mOH
HO OH H
¢ N \ H
= _ OH
(3} Al 4 OH B = @\/{;H
HO :
S :
= ~OH
@ we QS - I
Y { = _OH
HO  OH k
Options:

1873808877, 1
157380EE7E. 2
1873808879, 3
15738063850, 4

Question Number : 101 Question Id : 1879801721 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The spatial part of the donminant resonance structure of the LiH molecule 1s (only valance part
of the wavefunction 1s shown).

(1) 2s; (r1) 2s14(r2)

(2) 2s1i(r1) 1sa(r2) + 2swi(r2) 1su(r)

(3) 2s1i(r1) 1su(r2) — 2swni(r2) 1sa(ri)

(4) 1su(r1) 1su(r2)
Options:
1879806581, 1
1879808882, 2
1879806882 2



1873806554, 4

Question Number : 101 Question Id : 1879801721 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AU LiH &1 WM A8 G991 H WG 907 § (T3 Bl & odel araddl 71
9 B |

(1) 2s1; (r1) 2s14(r2)
(2) 2s14(r1) 1su(r2) + 2s1i(r2) 1su(r1)
(3) 2s14(r1) 1su(r2) — 2s5i(r2) 1sa(r)

(4) 1su(r1) 1su(r2)
Options:
15738063881, 1
1873800882, 2
1573808883, 2
1573806354, 4

Question Number : 102 Question Id : 1879801722 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In linear variation method using two orthogonal basis functions, the two roots obtamned are
€, and £, (Ey<€; ). The correct relation of these with exact ground and first excited state
energies, Eqg and E, | respectively, 1s

(2) Ep= E1 and £1= E1
(3) Eo< Ej and €1< E;

(4) €p= Epand ;= E;
Options:
15738063885, 1
18738062886, 2
15738063857, 2
1573B06EEE. 4
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IRge oo fafy & 31 ofd® N Bol &1 SUanT @9 U7 0T, &1 96 €, a2 €,
(Eg<€,) T 37dT Tumef =aa TuUT Uus Iford TRl & Haliall, T E, 927 E;,

(3} ED‘:: EU T-—[ﬂ_:ﬂ' E1'=:: E1

(4) €Eg= Ep TATE;= E;
Options:
15738063885, 1
18738062886, 2
1873808887, 2
1573806358, 4

Question Number : 103 Question Id : 1879801723 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The reducible representation, I', in the table 1s equal to the following superposition of the
wrreducible representations of C, , point group.

Cyy | E C, Ty Oy
4, |1 1 1 1
A, |1 1 -1 -1
B |1 -1 1 -1
By |1 -1 -1 1
r |8 —2 —6 4

(1) A; B 24,4 5B,

(2) Ay B 2A, @ 5B

(3) SA1 @ A& 2B1

(4) Ay B 5AE 2B
Options:
18793063889 1
1379=06590, 2
15879806891, 2



1873806592, 4

Question Number : 103 Question Id : 1879801723 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e H WeAd v, I, g §95 C,, & e+ Heaur & Heferfad aarmon
@ WA ©

Coy | E C, a, o
A, |1 1 1 1
A, |1 1 -1 -1
B, |1 -1 1 -1
B, |1 -1 -1 1
r |s ) —6 4

(1) Al & 2A P 5By
(2) Ay B 2A:6 5B
(3) SA1 B A 2By

(4) A B 5A,P 2B
Options:
1879806889 1
1873808290, 2
1573806391, 2
15738063932, 4

Question Number : 104 Question Id : 1879801724 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In the pure rotational microwave spectrum of a XY molecule, the adjacent lines are separated by
4 cm™1. If the molecule is irradiated by a radiation of 30,000 cm™?, the first Stokes line
(in cm™h) appears at

(1) 29988
(2) 30012
(3) 30004
(4) 29996

Options:



1873806833, 1
15738085894, 2
15738085835,
1573806336, 4

Question Number : 104 Question Id : 1879801724 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

U A XY S YE Azmded guff WegH § Fdcad! aEd 4om™ | 92U § 1 IfT a0
H 30,000 cm~ ! & TafTor ¥ &G foar we a1 w2 Wi o= e (cm 1 H) o

—
Q

(1) 29938 U¢
(2) 30012194
(3) 30004 94

(4) 29996 UY
Options:
1573806393, 1
1573806334, 2
1573806335, 3
1873806296, 4

Question Number : 105 Question Id : 1879801725 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The Hiickel molecular orbital of benzene that 15 degenerate with the molecular orbital

1 _
EUfz + X3 — X5 — Xe). 15

1

(1) ﬁ(2X1+X2_X3_2X4_X5 ‘|‘)[.'a}

(2) %(Iz —Xa+ X5 — Xe)

1

(3) E(2X1—X2—X3+2X4—X5—Xa}

1 .
(4) ﬁill—Xz + X3 — Xa+ X5 — Xe)

Options:
153792068497, 1

1873808898, 2
15738065893, 2



1873805300, 4

Question Number : 105 Question Id : 1879801725 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

L

1. i P b ke iy LY P - 2
5{){2 + ¥z — X5 — Xe ). JN0TSH afdee W el DI Al el ANUTE ATPCe] JATHE T,

o o

1

(1) EizXl‘Fk’z_k’a_Eh_k’s + xe)

1 .
(2)  J(x2—xa+xs5—xe)

1
(3) E[ZM—H—XB‘FEM—XE—X&)

L=

1 .
(4) ﬁifl—Xz + X3 — Xa+ X5 — Xe)

Options:

1879806897 1
1879806898, 2
1879806899, 2
187392063200, 4

Question Number : 106 Question Id : 1879801726 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
27h®
8mL?

The degeneracy of the state having energy for a particle in a 3-D cubic box of length L 1s

(1) 4
(2) 3
(3) 2
(4) 1
Options:

1873806301, 1
1573808302, 2
1873808303, 3
1573805304, 4

Question Number : 106 Question Id : 1879801726 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



27R°
fmlL2

TEE LP 3DUET 999 § US Tl & B B g AUl ©

(1) 4
(2) 3
(3) 2
(4) 1
Options:

187agoe3a0l. 1
1873806302, 2
1573806303, 2
1573806304, 4

Question Number : 107 Question Id : 1879801727 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Consider the gas phase reaction 2A(g)+ 3B(g) = 2C(g) at a given temperature. When

2.0 moles of A(g) are reacted with é_ﬂ moles of B(g),0.8 moles of C(g) are formed at
equilibrium at a total pressure of 2.0 bar. The value of the equilibrum constant, Kp of this

reaction at the given temperature 15 closest to

(1) 03
(2) 09
(3) 2.4
(4) 19.1
Options:

1573806305, 1
1573806306, 2
1873808307, 3
1873805308, 4

Question Number : 107 Question Id : 1879801727 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



T T3 U ue I urown AT 2A(g) + 3B(g) = 2C(g) TP oA SIAT | |y
379 2.0 bar T2 T9 A(g) & 2.0 Alail @ B(g) © 2.0 Frall | JfAfmar &7 ol § a1 Wi
TR H C(g) T 0.8 ATl @ |qu|4 Tl | 39 afafear o forv u fanies Ke @

—.—r.—'-r

HIH I'C'LL., ™ W fowe idcan © T. 5 ©

(1) 03
(2) 0.9
(3) 2.4
(4) 19.1
Options:

1873806305, 1
1573808306, 2
1873808307, 3
1573806308, 4

Question Number : 108 Question Id : 1879801728 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The molar residual entropy (in J K~) of solid OCS would be closest to

(1) 0
(2) 2.9
(3) 58
(4) 8.7
Options:

1873806303, 1
1573806310, 2
1573806311, 2
1573806312, 4

Question Number : 108 Question Id : 1879801728 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



B OCS & forw dAer @fde Tl @1 99 (K ) ffwe Adcar o, 98 ©

(1) 0
(2) 2.9
(3) 5.8
(4) 8.7
Options:

1873806303, 1
1573806310, 2
1573806311, 2
1573806312, 4

Question Number : 109 Question Id : 1879801729 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The electrolyte solution that has the smallest Debye-length at 298 K 15

(1) 0.01 M NaCl

(2) 0.01 M NaxSOs4

(3) 0.01M CuCls

(4) 0.01M LaCl:
Options:
15738063131
1573806314, 2
1873808915 2
1573808916, 4

Question Number : 109 Question Id : 1879801729 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



298 K T A fard—arvecy faeas & Sds—ows a9 o, 96 ©
(1) 0.01 M NaCl

(2) 0.01 M NaxSOs4
(3) 0.01M CuCl

(4) 0.01M LaCl;
Options:
15738063131
1873808914, 2
1873808915 2
1573806316, 4

Question Number : 110 Question Id : 1879801730 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The rate constant of a second order reaction 2A — Z 15 k,_ If the imifial concentration of the
reactant 1s a5 and the concentration of the product at tume t 1s x, then a linear function of r with
the slope k,ag 1s

(1) In (g:‘_x)

aglag—x)

(3)

apg—x

(4) In (ED{::TK:')

Options:

1879806917 1
18798063918, 2
187398063919 =
1579306320, 4

Question Number : 110 Question Id : 1879801730 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1



fadin @ifc &1 afafrar 24—z &1 o1 Fodie k, ©1 Ik afdeds @ neEfae
Tl ap © T2 98T t U7 Sodg & GFedl x © O ¢ BT, W9 kyae & G IRgE He

3,
=3
e

(1) In (a:_x)

(2)

aglag—x)

(3)

au_x

(4) In (ED{::TK:')

Options:

1879806917 1
1879806918, 2
18739806919 2
1879206320, 4

Question Number : 111 Question Id : 1879801731 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

X-rays of 173 pm wavelength are reflected by the (111) plane of a cubic primutive crystal at
8 = 30° The unit cell length (in pm) is closest to

(1) 173
(2) 300
(3) 346
(4) 600
Options:

1873806321, 1
1573806322, 2
1573806325, 3
1573806324, 4

Question Number : 111 Question Id : 1879801731 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1



TP AT TG Thred @ (111) a0 W 173 pm T90as0 @1 X707 & T9raa+ 8 = 30°
T BT © | Uee Wol @ oEE (pm FH) e Moo € 9T ©

(1) 173
(2) 300
(3) 346
(4) 600
Options:

187ag0e321. 1
1873806322, 2
1873806325, 3
1573806324, 4

Question Number : 112 Question 1d : 1879801732 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In a polymer of NV monomer umts, the root mean square separation between the two ends 1s
proportional to

[

(1) Nz
(2) N
(3) 3
(4) N?
Options

1873806325, 1
1573806326, 2
1873806327, 3
1573806328, 4

Question Number : 112 Question Id : 1879801732 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



TS 9geTd 4 N UGS ©, 81 3l © T O Ay 96 9USA foWe §HIUE! §, 95 &

[

(1) Nz
(2) N
(3) a3
(4) N?
Options:

1873806325, 1
1873AB0E39ZE, 2
1873806327, 3
1573806328, 4

Question Number : 113 Question Id : 1879801733 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(Cp — C,,) for a non-ideal gas differs from (C, — C,,) for a perfect gas by the expression
8Py (83U
o (&),

@ (),

@ -3, &)
@ (&),&),
Options:

1873806329, 1
1573808320, 2
1573806321, 2
1573808332, 4

Question Number : 113 Question Id : 1879801733 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



US Iy W & R1Y (¢, —C,). T AEY W B (¢, —C,) ¥ T Fus ¥ A= ©

© ), G

@ G, &),

® &), &)
@ (7,
Options:

18738063929 1
18738083320, 2
1573808331, 2
1873806322, 4

Question Number : 114 Question Id : 1879801734 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For the electrochemical cell Ag|AgCl|MCI(0.01M)|MCI(0.02M)|AgCl|Ag. the junction potential
15 the highest when M*is

(1) H*
(2) Li*
(3) Na*
(4) K*
Options:

1573806323, 1
1573806324, 2
1573806335, 3
18738063326, 4

Question Number : 114 Question Id : 1879801734 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1



IF[d THa - Wel AglAgClIMCI(0.01M)|MCl(0.02M)|AgCl|Ag, & o0 WiET fawg waivs
T T M*T

(1) H*
(2) Li*
(3) Na*
(4) K*
Options:

1573808333, 1
1873808324, 2
1573806325, 3
15738063326, 4

Question Number : 115 Question Id : 1879801735 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The function, which 1s NOT an eigenfunction of the indicated operator, 1s

Operator Function
(l) d__z .2 E.._xz |'Ir2'
dx?
Operator Function
2 2 2
(2) d__ 2 a~X /2
dx?
Operator Function
3 2 mX
3) d cos—
dx? 4
Operator Function
(4) d2 pdix
dx?

Options:

153792063937, 1
15879806928, 2
1879806929 2
18798063940, 4



Question Number : 115 Question Id : 1879801735 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e

el (Function) ST (<d ATIET &I 2AETH Held =61 ©,

|
&
N

Operator Function
( l ) d__z _ 2 e_xz |'Ir2'
dx?
Operator Function
2 2 2
(2) d__ 2 a— X2
dx?
Operator Function
2 X
(3) 2 o™
dx? 4
Operator Function
(4) d2 pdix
dx?

Options:

18793069327 1
18798069328 2
15879806929, 2
15879806940, 4

Question Number : 116 Question Id : 1879801736 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The order of a swrface catalyzed unimolecular reaction, at very low and very high pressures of
the reactant, would be, respectively

(1) 0,0
(2) 1,0
(3) 0,1
(4) 1,1
Options:

1873808341 1
18739808942 2
1873808343, 2



1873806344, 4

Question Number : 116 Question Id : 1879801736 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

UF U IoIid Uanogd AREdl & difc JIHMand & A g7 a9 At 3= @ W
(__?l" l‘_l EREED

(1) 0,0
(2) 1,0
(3) 0,1
(4) 1,1
Options:

1873806341, 1
1573808342, 2
1573805343, 2
1873806344, 4

Question Number : 117 Question Id : 1879801737 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



1.0 mol of a perfect monatomic gas 1s put through the cycle shown in the figure. The total work
(in J) done during the cycle 15
(use 1L-bar=100 T, R=83TK ' mol'=0.083 L-bar K mol™, In2=0.7)

| PRREE SR
:
" A |
m [ ]
L10F----5 — :C
: f :
I | I
I | I
I | I
| | I
L L I
23.24 46.48 92.96
V/L
(1) 930
(2) — 4183
(3) 8831
(4) — 5113
Options:

1573806345, 1
1573806346, 2
1573806347, 2
18738063945, 4

Question Number : 117 Question Id : 1879801737 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1



TS UEATGE TS 19 & 1.0 He @ I § R @5 ¥ qae T €1 9% @ oa
Hfear T Eget v 0 F) ©
(AT HIFAT 1L-bar=100J, R =83 JK! mol”=0.083 L-bar K mol-!, In2=10.7)

20k g - B
I
J
o M |
m I
L10F---- = L :C
: : .
I I [
1 | |
I 1 I
1 | |
i 1 |
23.24 46.48 92.96
V/L
(1) 930
(2) — 4183
(3) 8831
(4) —5113
Options:

1573806345, 1
1573806346, 2
1573806347, 2
18738063945, 4

Question Number : 118 Question Id : 1879801738 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The oxidation of NO to NO; occurs via the mechamsm given below.

k
N0 = N0,
L
k
NyOhy + 0y 2 e 2N,
d[NO,] -

- n the presence of large excess of O; can be written as

(1) 2k, (NO)?

(2) 2k, k,(NO)2(0,)
3)  2(NOy?

(4) 2k, (NO)?

Options:

1879806949 1
1879806350, 2
187398063951, 2
1879806352, 4

Question Number : 118 Question Id : 1879801738 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

NO &I NO, ¥ Aiasiaeu f=feriaa frarfafa & o@r ©

K
INO ' N0,

k.

Nzﬂz T Gz L’- 1‘[}2

0, BT Igd Hfwar ¥ 22 i o wer v wad €, 9% §
(1) 2k, (NO)?

(2) 2k, k,(NO)3(0,)

(3)  2(NO)?

(4) 2k, (NO)?

Options:
18739806949 1
1879806350, 2



1873806351, 3
1573806352, 4

Question Number : 119 Question Id : 1879801739 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In trans 1,2-dichloroethylene, the IR inactive mode 1s

(1) C — Cl symmetric stretch

(2) C — Cl asymmetric stretch

(3) C — H asymmetric stretch

(4) In phase out of plane C — Cl bend

Options:

1879806953 1
158798063954 2
1879806355 2
18798063956, 4

Question Number : 119 Question Id : 1879801739 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

trans 1 2-SSdoiNUEG= & g RAE ©
(1) C — Cl |HfEg a4
(2) C — Cl ar9a&g a4

(3) C — H J{9Ed 949

(4) HHGC B UTaRl | 915¢ C — Cl 96
Options:
1879806953, 1
1879806954, 2
1879806955, 3
1879806956, 4

Question Number : 120 Question 1d : 1879801740 Question Type: MSQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



For the reaction K + Br, — KBr + Br, which follows the harpoon mechamsm, the reactive
cross section 1s closest to

2
(Use 4; = 2.3 x 1072% T m, Ionization energy of K = 422.5 kJ mol™!, electron affinity of
o}
Br, = 250 kI mol™ and Ny = 6 x 10°* mol™)

(1) 50 x 10718 m;?
(2) 2 x 10718 2
(3) 64 x 10718 ;2

(4) 16 x 10718 m?
Options:
1573806357, 1
1573806356, 2
1873806953, 2
1573208960, 4

Question Number : 120 Question Id : 1879801740 Question Type: MSQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AfATHAT K+ Br, — KBr + BI',Eﬁ S hATAfe &1 ATHI0T I E* Eil ﬁTK’
2 i’
gfafemarsier gy ufiwss foee Fecas & a8 §
%, o) 2 o T
(TART BITAT —— = 2.3 x 10728 Jm K B AF47 Full = 422.5 kI mol~!, Br, &1

dmeg

SeTaC SYT = 250 kI mol! TN, = 6 x 1023 mol™1)

(1) 50 x 10718 m;m?

(2) 2 % 10718 2

(3) 64 x 10718 m?

(4) 16 x 10718 m?
Options:
1879808357, 1
18739806358, 2
18739806359, =
1873806360, 4



